BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 13 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
JUNE 25, 2025
LIA ENGINEERING, INC.
E. MUPRHY
JUNE 25, 2025
0390-2332 (9.2)

BIDDER NAME	BASE BID
1) DURWOOD GREENE CONSTRUCTION CO.	\$827,177.25
2) MH2 CONSTRUCTION SERVICES, LLC	\$860,000.00
3) R CONSTRUCTION CIVIL, LLC	\$876,468.60
4) DACO PAVING, INC.	\$882,000.00
5) PRECISE SERVICES INC.	\$916,451.90

CALENDAR DAYS - 50/60



I, Kyle T. Kraus, PE, hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 13

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2025 LIA ENGINEERING, INC. E. MUPRHY JUNE 25, 2025

0390-2332 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) DURWOOD GREEF	NE CONSTRUCTION CO.	2) MH2 CONSTRUCTION SERVICES, LLC		3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING ITEMS FOR ANNISTON SECTION 13 1. ROADWAY AND LOT EXCAVATION, INCLUDING STRIPPINGS, STOCKP OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN		7772	\$2.00	\$15,544.00	\$2.32	\$18,031.04	\$1.90	\$14,766.80	\$5.00	\$38,860.00
 ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKI OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSI FINAL GRADING AND REPPLICATION OF STRIPPINGS, COMPLETE IN I 	ſΥ,	7772	\$2.00	\$15,544.00	\$2.32	\$18,031.04	\$1.90	\$14,766.80	\$1.10	\$8,549.20
3. 6" REINFORCED CONRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVI STRENGTH, COMPLETE IN PLACE	E SY	11975	\$49.50	\$592,762.50	\$49.88	\$597,313.00	\$51.00	\$610,725.00	\$50.00	\$598,750.00
4. 6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLET PLACE	E IN SY	13441	\$4.50	\$60,484.50	\$4.33	\$58,199.53	\$4.00	\$53,764.00	\$3.70	\$49,731.70
 HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 3% E WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE 	BY DRY TON	109	\$220.00	\$23,980.00	\$360.00	\$39,240.00	\$360.00	\$39,240.00	\$370.00	\$40,330.00
6. FLY ASH FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY W AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNIC ENGINEER, COMPLETE IN PLACE		254	\$140.00	\$35,560.00	\$180.00	\$45,720.00	\$150.00	\$38,100.00	\$147.00	\$37,338.00
7. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1606	\$3.75	\$6,022.50	\$4.08	\$6,552.48	\$4.00	\$6,424.00	\$4.35	\$6,986.10
8. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4993	\$3.75	\$18,723.75	\$4.08	\$20,371.44	\$4.00	\$19,972.00	\$4.35	\$21,719.55
 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BL PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PA STREET SIGN POLES), COMPLETE IN PLACE 		1	\$12,000.00	\$12,000.00	\$9,800.00	\$9,800.00	\$8,500.00	\$8,500.00	\$10,735.45	\$10,735.45
10. TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	6	\$1,600.00	\$9,600.00	\$1,578.00	\$9,468.00	\$1,750.00	\$10,500.00	\$1,500.00	\$9,000.00
11. REMOVAL OF TYPE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE	EA	4	\$10.00	\$40.00	\$0.50	\$2.00	\$1.00	\$4.00	\$1.00	\$4.00
12. 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR F HYDRANT LOCATION, COMPLETE IN PLACE	RE EA	7	\$20.00	\$140.00	\$18.00	\$126.00	\$15.00	\$105.00	\$18.00	\$126.00
13. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$20,700.00	\$20,700.00	\$19,804.40	\$19,804.40	\$26,000.00	\$26,000.00	\$30,000.00	\$30,000.00
SUBTOTAL PAVING ITEMS FOR ANNISTON SECTION 13			-	\$811,101.25	_	\$842,658.93	_	\$842,867.60		\$852,130.00
MISCELLANEOUS ITEMS 1. ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGLOW)	EA	1	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00
EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (T USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	О ВЕ СУ	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$35.00	\$3,500.00
3. AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, AI CORNERS (124 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEX, WELL AS AN AUTOCAD FILE OF THE SURVEY, COMPLETE IN PLACE		1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$6,500.00	\$6,500.00	\$4,000.00	\$4,000.00

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 13

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2025 LIA ENGINEERING, INC. E. MUPRHY JUNE 25, 2025 0390-2332 (9.2)

			1) DURWOOD GREEN	IE CONSTRUCTION CO.	2) MH2 CONSTRU	CTION SERVICES, LLC	3) R CONSTRUCTION CIVIL, LLC		4) DACO PAVING, INC.		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTON: PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE		1		\$70.00	\$800.00	\$800.00	\$1.00	\$1.00	\$1,400.00	\$1,400.00	
5. CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	
 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE 	LS	1	\$1,500.00	\$1,500.00	\$783.07	\$783.07	\$1,200.00	\$1,200.00	\$8,000.00	\$8,000.00	
7. EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	E LS	1	\$100.00	\$100.00	\$800.00	\$800.00	\$700.00	\$700.00	\$950.00	\$950.00	
8. EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	' LF	100	\$1.00	\$100.00	\$1.18	\$118.00	\$1.00	\$100.00	\$1.50	\$150.00	
EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ON AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LY EA	50	\$6.00	\$300.00	\$6.80	\$340.00	\$6.00	\$300.00	\$7.00	\$350.00	
10. EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	
11. EXTRA HYDROMULCH SEEDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
12. EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	' AC	1	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	
13. 7'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, O 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD) COMPLETE IN PLACE		1	\$400.00	\$400.00	\$600.00	\$600.00	\$2,800.00	\$2,800.00	\$1,620.00	\$1,620.00	
14. 10'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$650.00	\$650.00	\$3,900.00	\$3,900.00	\$1,660.00	\$1,660.00	
15. 13'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$800.00	\$800.00	\$4,000.00	\$4,000.00	\$1,840.00	\$1,840.00	
16. 15'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$850.00	\$850.00	\$4,100.00	\$4,100.00	\$2,000.00	\$2,000.00	
17. 18'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$606.00	\$606.00	\$1,000.00	\$1,000.00	\$4,400.00	\$4,400.00	\$2,200.00	\$2,200.00	
SUBTOTAL MISCELLANEOUS ITEMS			-	\$16,076.00	-	\$17,341.07	_	\$33,601.00	_	\$29,870.00	
BID SUMMARY											
PAVING ITEMS FOR ANNISTON SECTION 13				\$811,101.25		\$842,658.93		\$842,867.60		\$852,130.00	
MISCELLANEOUS ITEMS				\$16,076.00		\$17,341.07		\$33,601.00		\$29,870.00	
TOTAL AMOUNT BASE BID				\$827,177.25 Page 3 of 5		\$860,000.00		\$876,468.60		\$882,000 ነወዊ -1386 LJA Engineering, Inc.	

O:\LAND\0390\2332\062525_Anniston Section 13 Paving_BT

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 13

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2025 LIA ENGINEERING, INC. E. MUPRHY JUNE 25, 2025 0390-2332 (9.2)

				5) PRECISE	SERVICES INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	ITEMS FOR ANNISTON SECTION 13 ROADWAY AND LOT EXCAVATION, INCLUDING STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	7772	\$3.15	\$24,481.80
2.	ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	7772	\$3.15	\$24,481.80
3.	6" REINFORCED CONRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	11975	\$53.00	\$634,675.00
4.	6" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, COMPLETE IN PLACE	SY	13441	\$4.55	\$61,156.55
5.	HYDRATED LIME FOR 6" STABILIZED SUBGRADE PREPARATION, 3% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	109	\$345.00	\$37,605.00
6.	FLY ASH FOR 6" STABILIZED SUBGRADE PREPARATION, 7% BY DRY WEIGHT, AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	254	\$145.00	\$36,830.00
7.	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	1606	\$4.25	\$6,825.50
8.	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4993	\$4.25	\$21,220.25
9.	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00
10.	TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	6	\$1,450.00	\$8,700.00
11.	REMOVAL OF TYPE III BARRICADE WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE	EA	4	\$100.00	\$400.00
12.	4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	7	\$18.00	\$126.00
13.	FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00
SUBTOT	AL PAVING ITEMS FOR ANNISTON SECTION 13			•	\$886,501.90
	ANEOUS ITEMS ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$350.00	\$350.00
2.	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00
3.	AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, AND LOT CORNERS (124 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF THE SURVEY, COMPLETE IN PLACE	LS	1	\$8,750.00	\$8,750.00

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 13

Page 5 of 5

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS JUNE 25, 2025 LIA ENGINEERING, INC. E. MUPRHY JUNE 25, 2025 0390-2332 (9.2)

5) PRECISE SERVICES INC.

				3) FRECISE	SERVICES INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00
5.	CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
6.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00
7.	EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$700.00	\$700.00
8.	EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00
9.	EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	50	\$6.00	\$300.00
10.	EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00
11.	EXTRA HYDROMULCH SEEDING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$2,500.00	\$2,500.00
12.	EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,250.00	\$1,250.00
13.	.7'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00
14.	10'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,750.00	\$1,750.00
15.	13'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$2,125.00	\$2,125.00
16.	15'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$2,375.00	\$2,375.00
17.	18'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$2,750.00	\$2,750.00
SUBTOT	AL MISCELLANEOUS ITEMS			-	\$29,950.00
BID SUN	MARY				
PAVING	ITEMS FOR ANNISTON SECTION 13				\$886,501.90
MISCELL	ANEOUS ITEMS				\$29,950.00
TOTAL A	AMOUNT BASE BID				\$916,451.90

 $\label{eq:FRN F-1386} FRN F-1386 $$ LJA Engineering, Inc. $$ 0:\LAND\0390\2332\062525_Anniston Section 13 Paving_BT $$$